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GROUP-I by - o/
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NOTE: - Write same question number -q_z-,m;;_{.gw?é 6/:/52/;1/{.‘}!;'@:{4&}(2 &)

and its part number on answer book, as given in the guestion paper.

SECTION- (sl.o

2. Attempt any four parts. 8=2x4 _é,ﬂ-.,pxélzuyc.éf -2/,idlr
(i) Define Run Time Error, -y:/-.‘:’ /-U’/;rf' el (1)
(i)  Whatis Flow Chart? Sk (i)
(i) Write any twe limitations of Flow Chart. -;,‘."%&A»::Jé/o’.w\:ﬁ (iii)
(iv)  Write down the names of different typas of Errors in program. -._,:/}f';tf.b('z.() _;"3_;:.”,-:{ (iv)
(v/  Whatis meant by IDE in GW-BASIC? SeslfVe IDE 2 GW-BASIC (V)
(vi)  Write down the method to save a program in BASIC -u:‘”:‘fg )b’;,fx}’,;f):,;l,t\.(;x {vi)
3. Attempt any four parts, ©8=2x4 -é{f’é&lﬁ[_lzwc—éf 340y
() write the purpose and syntax of GOTO Statement, O& ) U727 pSstinw s fa GOTO ()
(i)  What is meant by Sequance Structure? /\S\ Y Seslpe b ()
(i)  Differentiate between Save and Save As. OO -JAULJAL Save As sl Save (il
(iv)  Write the short keys of lUndo and Redo. ‘ ®O/ £ (/‘?/.{ ..:,.L:»J' Redo . Undo  (iv)
(v)  Write down the steps to close the documeni in MS-WORD. .(_,/;;‘70-/ K /h:’.‘#{l}u‘: MS-WORD (v)
(vi) What is meant by Header and Footer? 'f' tesipfe 29 sk (Vi)
4. Attempt any four parts. g8=2x4 -é’(faw&lzl&c_(}f Ay
()  Define two dimersional array. BT Uy o TR
(i)  Define DIM statement. GlaAE DM ()
(i)  Define Built-in Function, LIStk i)
(iv)  Define ABS function with an example. -Q:J‘?m'u!"' -—i{/'&fﬁ ABS (V)
(v} Write down the syntax of SCREEN Statement, i hPf S W)
(vi) What is the purpose of LINE Statement in BASIC? ‘.'iaﬂd?‘t_f Koo LINE Sl (i)

SECTION-lI e

+

NOTE: - Attempt any two questions. -s‘:.//ogLeé.-,mm:,Jf oY
5. Write a note on Constants and its types. 8 S fe e A S B 25
5. What is Control Transfer? 8 Sl U,QC‘;?)J,}J:CIIQ»J? P (AU -6

Explain different types of Control Transfer
7 Explain the foilowing terms:- 3 -V_'j;.v'.b:c’.-,b!.l&-'u,fiz-ﬂ.- -7
(a) Characters i,"ff (b) Dala files )’Sl‘;ﬁ {c) Record LK. (d) Prcgram files ;:’w U(l/:4
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COMPUTEIR SCIENCE (NEW SCHEME)

2017 (A)

GROUP-II

TIME ALLOWED: 1.45 Hours

MAXIMUM MARKS: 40
NOTE: - Write same question number _LZ/J:JH.JVJ:?{{ Z;/)/%?/Jff’d'ﬂ?:{&(dii

2. Attempt any four parts.

0}

(i)

(iii)
{iv)
v)
(vi)

3. Attempt any four parts.

(i)
(i
(i)
(W)
)

(vi)

4. Attempt any four parts.

(M

i
(i)
()
)
(vi)

SSC PART-Il (10th CLASS)
( 20152017 &% )

SUBJECTIVE J&»

and its part number on answer book, as given in the question paper.

SECTION4 Jile

8=2x4
Define Syntax.

In which programming error,

program exescution stops accidently and why?
What is meant by Program Caoding?

Write down one exampie of Numeric and String Constants.
What is meant by Desk Checking?

Differentiate between CLEAR and CLS Command.

B=2x4
Define Outer Locp.

Write the names of Logical Operators.

Write the companents of application Window in MS-Word.
\Write the use of "Auto Correct” feature in MS-Word.

Write the use of "Spell Checker” in MS-Word.

Write the Shortcut Key of Print.

8=2x4
What is the use of Subscript in Array?

What s One-Dimensicnal Aray?

Define Bulit-in-Function.

Define Subroutines,

Describe the use of Screen-Statementt in BASIC.

Define Graphics.

SECTION-I (1

NOTE: - Attempt any two questions.

Write a note on different Operators in GW-BASIC. 8
Describe the use of 8
ON — ERROR - GOTO Statement in BASIC with sxample
Explain SCREEN and PALETTE statement 8

with syntax.

PPy L-u:.u,(

_U3A 25 CLS s CLEAR

& 145 = &N

4 = A

-2

- fep L 8 240w

oA oSss 0

?u,é;;b. 6:3_641)3»,4,‘;,;:’2 'J(Vx{ Uiy W V:{J’.’,‘f (i)
Selpie EHpA, (i)

e LS KL o S5 (W)

tepfe G (V)

(vi)

sf:{fu&’!«ﬁ'?’/kc.df 340

'-f—é’/” -J/:

~f"‘(t£.;f< 2y

~L /'{/']'n-—:iJv RSV
SUergds LT S A

».,zc/‘:'y’;j)h'”i' i /-G'_,g' SR

= g,:/’( /; J u:'(_'.u‘.ié_ L LJ':.‘/'_‘/_

{H
(i)
(iif)
(iv)
)
(vh)

L fealinvpe 3 Ay

S St K P e

Se Yo MU

S PSS

I R

A '/f' Wy A
-J,'/w.'.’/"du;i'f

(@}
(i)
{if)
(iv)
(v
(vi)

WLy ST Y TIDTIoL §

i B 2 GW-BASIC

LS L eesnSeF ON — ERROR - GOTO Ui st W1t L

u..'/'f PALETTE .4 SCREEN
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PAPER CODE 2017 (A) &7 / e
NUMBER: 3837 SSC PART-ll (10th CLASS)

COMPUTER SCIENCE (NEW SCHEME) (20152017 & ) (£ 2) Smwd
GROUP-| bt - s
TIME ALLOWED: 15 Minutes OBJECTIVE (3 >e e15 = <
MAXIMUM MARKS: 10 10= AF

A o L AA3e Yl iz erne Lo b vl vy Q807 < p L s D 1 CB A syl Jivy ot
N Ko AN RS Soi Bubbles -G itedd be SISk L LSl ptnkie L 5
Note: You have four choices for each objective type question as A, B, C and D. - :/c:;f};:alﬂr{.g{._glr
The choice which you think is correct, fill that circle in front of that question number. Use marker or pen
to fill the circles, Cutting or filling two or more circies will result in zero mark in that question. Attempt as
many guestions as given in objective type question paper and leave others blank, No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.
Q.No.1

(1) To read information from a file, it must be opened for:-

A A

” s A -'.
Sl D st i (1)

=

(A} Input wco! (B) Output ;=37 (C)BothAandB Uss B A (D) None of these 40/ Ll

(2) The number of backgreund colours available in BASIC is:- = MIAD) L D AT B (2)
(A) 4 (B) B (C) 12 (D) 18

(3) ____ option is not in Edit Menu. o R o O (3)
iA) Unda il {B) Redo s.% (©) bor) (D) Font 249

-

14) possible solutions ‘or a problem are /\S\/~ -u_rgﬂ;,fxmf,".ﬁg.{l (4)

o)

(C) Three 2 /) (D) Multiple §
* @O

(B) Program ldemiﬁcatiop* SN
o

{A) One ofi (B) Two =

(5) Program upgradation refers to:- e .-'/c.i_.h,%)?vﬂ,; (5)
(A} Program Enhancement \5,7("&’."/’4
{C) Program Development Ch."/r." (D) Program Implementation O ibf".'.&
(6) A variable name must start with a/an;- D L P9 {6)

(A) Alphatel et (B) Underscore < %41

(C) Digit =™t (D) Alphabet or Underscore oy boaal
(7) To run a program in GW-BASIC, shorteut key used Is:- .c.-JsJﬁ'i,j’.'f..:.A,"é".i.ug,"f':,'»ut.;;);*. i3, (7
(A) F4 (B) F3 (C)F2 (D) F1

(8) FOR -- NEXT statemant is used to implement;- -.,gL/L‘v;‘I_-;‘? FOR -— NEXT (8)

(A) tteration &L ZAF  (B) Selection &£ (C)Sequence & £_77 (D)Allofthese &L i

(9) Dimansion statement uses the keyword:- e bt S Lty (©)
(A) DMS (B) DS (C) DIM (D) DM
(10) The statement DIM C(30, 50) would reserve:- - 057 DMC30, 50) e (10)

(A) 180 locations =L&- 180

(C) 1800 locations <=4+ 1800

(B) 1500 locations  =4l- 15C0

(D) 150 locations <. 150

38(0bj)( W T W)-2017(A)-1£000 (MULTAN)
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PAPER CODE 2017 (A) (,f/

A

NUMBER: 3832 SSC PART-Il (10th CLASS)

COMPUTER SCIENCE (NEW SCHEME)  ( 2015-2017 &% ) (¢ 2) S
GROUP-II Py
TIME ALLOWED: 15 Mirutes OBJECTIVE @Z’.ﬁ w15 = 25
MAXIMUM MARKS: 10 10= AF

fe o | LA ISIWL i erne Ll esie v Jrpg§837 B EsD 41 CB A b Ly i)
V1 _(Lgp‘ﬂ}ﬂ/&aﬂwi Bubbles -ﬂ/ﬂﬁyﬂt/ﬁg}-':—/ﬂ;w JoX i ."../m}:}fmkbug &
Note: You have four choices for each objective typo question as A, B, C and D. ....,{/JJ')}@UV{.“."V
The choice which you think is correct, fill that circle in front of that question number. Use marker or pen
to fill the circles. Cutting or filling two or more circies will result in zero mark in that question. Attempt as
many questions as given in objective typs question paper and leave others blank. No credit will be awarded
In case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A A

(1) The rectangular symbol in Flowchart indicates:- -(,-Jlirfxpu(ﬁ:’ S 4-9:5 1)
(A) Processing &1y (B) Condition ¢*&"  (C) Input Lo (D) Outout w247

(2) ___ termis commonly used to refer program errors. -&-4 ll‘ﬂ'dl:i.:rdt-"irkd_[_ u;;“%;zn;r!;’:{ (2)
(A) Bugs # (B)Debugs # &  (C) Compiling J&4" (D) Coding 3/’

(3) Types of Variables are:- -ujv'lJ'J.:«',:."‘ (3)
{(A) One {1 (B) Three ¢ € Four L (D) Two =

(4) is not a Logical Oparator. -q.-.,'ﬁj‘:{LE’-:' g (4)
(A) AND (B) OR (C) NEITHER) (D) NOT

(5) The Extension of based file in Basic Program is:- ‘{.‘e;éng*"gldviiupi'{rv:{é (5)
(A) .bs (B) .doc {C) txt (D) .bas

(6) The siatement DIM C{30, 50) would reserve, - ...;..3)1‘:5" DIM C(30, 50} .‘/-‘-" 6)
(A) 80 locations =i~ 80 (B) 1500 locations =\~ 1500
(C) 1800 locations =\U- 1800 (D) 150 locations =4+ 150

(7) To represent the first element of an array having 4 rows -3 )Ki_.’}u;fgﬁc‘% Lg.{lﬁuf'if;fnunt&g (7)

and 3 columns is:-

(A) A(G 0) (B) A(1, 1) (C) A4, 3) (D) A2 3)

(8) The output of ABS (-4.58 ) is:- ~G-w/2¥ ABS (-4.58) (&)
(A) 4 (B8) -4 (C) 5 (D) 4.58

(8) Ia Medium Resolution Screen mede colors for foreground are- -Vg;)‘LﬂUSU Srog,f‘;;’i,:yriy (93
(A) 1 (B) 2 (C) 4 (O) 18

(10) MS-Wordisa based program, -.cf“);()'ﬁ —__lMs (10}

(A) Windows sk (B) System

(C) Dos 13 (D) None of these uf-;féi’c.;ﬂw!
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